usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

c — B = Entries 41153
S5 000 evtlree 12000~ 500
= ’ - - * - Mean 5.604
O ? 7000~ Entries 164676 10000~ 450
> ﬁ B a000F- o - Std Dev 1514
A5 6000 Mean 4.742 X 3o N
I E - 6000 x  xx% s XX :;:»::x:x? % 400— Underflow 2854
>000F Std Dev 0.02459 4000 - Overflow 2866
N 4000 2000 | i
2 3000 [ -
- h ~2000 - | -
- o I 250
- 2000} —4000 - i
I 1000 ~B000 % 7 < LSSsdsss™ 200
;;.' ; ¥ i a E 8000 = s i
D ] ; |IIII|IIII|IIII|:"§1U D |IIII III|IIII|IIII| I||I _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III —IIII|IIII|IIII|IIII|IIII|IIII
0 0 10C D 200 250 300 350 400 4.6 4.65 47 4.75 4.8 4.85 0 1000(2000B000&000G000GO00F000BO00MBO000 -3000 -2000 -—1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run6356 000 maindet usl.png



dsl*CurMon:Entry$

-
h 3

asiLurivion
N I I I

o B
AL

A
AL
i1

514
Ak
HE
AX
ik
— A H =1 Ak

] HE 1=
Ak

<L
Ak
<L

=L i1 e
] <] g .
3 - BE 1> 1
o W P T o
. 21+
g
.

2T
s
e | | | I 111 | |

Ak
I|III

+1
Ak
+1
Ak

+1>
Ak
g

0 50 100 150

run6356 000 maindet dsl.png

200 250

ingPaniiiss x10°

300

350 400
Entry$

7000

6000

5000

4000

3000

2000

1000

dsl*CurMon {ErrorFlag==0}

evtlree
Entries 164676
Mean -3.812

Std Dev  0.0112

|
o
o)
»

|
-3.84

|
-3.82

-3.8

|
-3.78 -3.76
dsl*CurMon

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1500
%
1000 % Zix
T
500 [-

-]
O 1
10 1
I ¥
I |
I B —
I

R

500
1000}, %, 25 JY s
. O . A

B . . -
B s
B -

-1500—
B ||||||| l ||||||||||||||||||
D 'IUUU['EUDU (5 000F000@B000®O000

pattern_number

asym_dsl

- Entries 41153
3000 Mean 0.3501

i Std Dev 323.5
2500 —

- Underflow 0
2000 Overflow 0
1500
1000 —

500
D B I I | | I | | I I | L1 1 1 | I | | I O |
—3000 2000 1000 0 1000 2000 3000
ppm




usr*CurMon:Entry$

asym_usr/ppm:pattern_number {ErrorFlag==0}

usr*CurMon {ErrorFlag==0}

c
§ B thTree 8000 [
= Sz 7000~ %% KKK X
o Ol i Entries 164676 S " S T
F} o | A : nines EDDU :_ [ TT ] -:i:“ TTTTT
BN 1 6000 :
" - Mean 4.77 4000
E * 5000 :
1 - Std Dev  0.02519 2000
34 : i :
: 4000 0 HEERHRMAF = HHEHEERERBREE
B " .. 3000~ —2000
2r¢ ¢ - I
I - ~4000 [+
. 2000 -
1 B 6000 |L |1 ) Lo 4L
- = L o X W TR
i 1000 _ XX 2
i ’ . : —8000 - ~ s
D_ ] A |||||||||||||II|:""Z‘I':l3 D_IlLII IIII||||||||I L L[ | _III|||||||||||||||||||||||||||||||||||||||II|III
0 0 D( ) 200 250 300 350 400 4.65 4.7 4.75 4.8 4.85 4.9 0 1000R000CBO0OOG000GO00E®mOOOHFO00MBO0O0MO000
Entry$ usr*CurMon pattern_number

run6356 000 maindet usr.png

dasym_usr
450 Entries 41153
i Mean -2.299
400 — Std Dev 1559
i Underflow 3676
350—
- Overflow 3529
300
250
2001 mL
B | I | L 11 1 | | I | | | I | | I | L 11 1
-3000 -2000 -1000 0 1000 2000 3000
ppm




dsr*CurMon:Entry$ dsr*CurMon {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr

c 0 3 — N Entries 41153
o -l : : . 7000 _
= T ; evtiree ool > H _
3 o5k - _ L x "x x o 2500~ Mean  -0.6165
s 6000 Entries 164676 X :xgzx x e e eer N .
a B TTT T ST S e I
O - | i 1000 [T %7 W CTRIRTRINATE - Std Dev  377.9
—1r § Mean -3.765 I T 2000 —
B 5000~ [ - Underflow 0
- - 500 - -
15 - Std Dev 0.01389 1] | | i Overflow 0
+ £ 4000~ i 1500—
P : 0FF H H =H ; :
: 3000~ L L] 1 1 :
250 | : ; ~500{} 1000~
I & : 2000 : _ -
2 B Al i i i
3 3 % B 000" | == | © illlililllyd -
! + : ] n u }‘i__§ v L Lxx 3 L 500
1000f- 5, C R R -
£ 7 - = - Soox s 3¢ 5 B
—3.5¢ 3 : - - * X X X i
AN : - ~1500 - I
h.lil...._ ||||||||||||||| ...... ||||'.:"":‘I':.‘l3 D_III |||||IIJIII|II |||| _III|||||||||||||||||||||||||||||||||||||||II|III Dlllllll IIJ_I|J_||| III|||||
0 o0 100 150 200 250 300 350 400 -3.82 -38 -3.78 -3.76 -3.74 -3.72 -3.7 0 10002000CBO0O0OG000GO00®O0O0OKFO00GBO00MO000 -3000 -2000 -1000 0 1000 2000 3000
Entry$ dsr*CurMon pattern_number ppm

run6356 000 maindet dsr.png



yield usl:pattern_number {ErrorFlag==0}

0.0326

0.0324

0.0322

o F e N B B

0.032} 3% 9

00318

s rE I e T e -

0.0316

0.0314

0.0312

1000(R000GB000C4000(B000®BO00GF000GB0O00®0000
pattern_number

run6356 000 pairTree usl.png

4000

3500

3000

2500

2000

1500

1000

500

yield_usl {ErrorFlag==0}

htemp

Entries 82327

Mean 0.03201

Std Dev  0.000128

>

0312 0.0314 0.0316 0.0318 0.032 0.0322 0.0324 0.0326

yield usl

15000

10000

5000

asym_usl/ppm:pattern_number {ErrorFlag==0}

ma

e

B
R
|
|
|

Lty
~5000 -
[ [ L3 xxx x L) [ Lyexxxx
R X . . M H AKX
X 3K
10000 — =
i o
: >
= it
-‘IEDDD_Illllllll|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
0 10002000@B000G000G000BO00OFO00E@O00M®O000
pattern_number

4500

4000

3500

3000

2500

2000

1500

1000

500

asym_usl/ppm {ErrorFlag==0}

PairTree

Entries

Mean

Std Dev

82327

6.251

2518

_IJ_IIII|I

| ]

=< T TTTT

[
5000 —10000 -5000

10000

15000
asym_usl/ppm




yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

: 3500 htemp oo 2200] PairTree
02555 i L S _ -
E : i 1711+ 1l 1 2000
" : 3000— Entries 82327 T T|.T TT T N Entries 82327
0.0256 - - 2000 1800~
25001 Mean  —0.02573 16001 Mean 0.3171
» - 1000 - | '
g & - Std Dev 4.6176-05 i 1400 StdDev 1034
20001 0 BEEHEHHE = alslsl=tslel=lulslsl=l=]= 1200~
: 1500 ] 1000
0.0258F 1§ - ~10001F 800~
2 1000/ : ok
025858 N ~2000 - B
- i -] - L 400
- 500 L L RN I -
0.0259— ° B A 1771 -
9L : ~3000 |- 200
_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D_IllllllJ_l I|IIII|IIII|IIII|IIII|IIII |I_|III B I|III|III| |I | |III|IIII|IIII|III D:II ] I|IIII|IIII|IIII||III|I II|I|
1000(2000B000640006G000G0007000BO00BO000 —0.0259R0250 025950258 0257000287, 02565 0285602555 0 1000@000B000GI000G000G00T000BO00@0000 —3000 —2000 —1000 O 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run6356 000 pairTree dsl.png



0.0328

0.0326— i

0.0324 B By

0.0318"

0.0316

yield usr:pattern_number {ErrorFlag==0}

Tl e 0 L O e e LT

1000(R000GB000C4000(B000®BO00GF000GB0O00®0000
pattern_number

run6356 000 pairTree usr.png

3500

3000

2500

2000

1500

1000

500

yield_usr {ErrorFlag==0}

htemp

Entries 82327

0.0322

Mean

Std Dev  0.0001234

8

0316 0.0318

l | l
0.032 0.0322 0.0324 0.0326 0.0328
yield usr

asym_usr/ppm:pattern_number {ErrorFlag==0}

10000

| |
w5
o
|

{
| W

=
W
I
|
|
| 0 W0

5000

1
1
I
I
1 il I
1 iJi I
T}
1
1
T 1
I |
| i B

=
i' - |% | ——
10 1
I I
I
17 1
17 1
17 1

-5000
= Bl A A4 # = K = R
o M M e i = U
g}{}{ Mo MMM M
10000 xSk
E"
I|III|III| |I | |III|IIII|IIII|III
0 1000@000@B000GH000B000BO00T000BO00®O000

pattern_number

3000

2500

2000

1500

1000

500

asym_usr/ppm {ErrorFlag==0}

PairTree
Entries 82327
Mean -17.8
Std Dev 2661

-10000

-5000 0 5000 10000

asym_usr/ppm



yield_dsr:pattern_number {ErrorFlag==0} yield_dsr {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr/ppm {ErrorFlag==0}

- : htemp - 3500 PairTree
- 5 L i Entries 82327 EOSANNELy o ofeTerete EH{ o 3000 Entries 82327
£ i }{é}{}{}{}{}{}{ e R R G R R K —
-1 2000 — Mean  -0.02542 i 7 ! Mean —0.6369
i - Std Dev 6.571e-05 | - Std Dev  531.4
1500~ ok 2000
0.0254 I - i
! : 1500
| 1000 — 1000 B i
0.0255F - 1 SV 1000
] —%""%K"" 3L L e L i
- X3 X X Y S 3 5 S e B
500(- <R R :
N —2000 [ X X 500—
0.0256 I I -
- . : i i s i
'TIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I.1III|III DIII IIII|IIII|IIII|III|J_I IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III D_III|III|IIII|IIII|II |II
10002000B000A000GO00GO00I/000B0O0O0ER0O000 -0.0256 -0.0255 -0.0254 -0.0253 -0.0252 0 1000R000CBO0OOG000GO00E®mOOOHFO00MBO0O0MO000 —2000 -1000 0 1000 2000
pattern_number yield_dsr pattern_number asym_dsr/ppm

run6356 000 pairTree dsr.png



asym_usl

asym_dsl

asym_usr

asym_dsr

0.012 0.012 0.012
n M —(40¢ n = —45( n L] —40(
0.01F 0.01F 0.01F
- —35( - —40( : i
0.008F - 0.008F - 0.008F - - 3
N N —35( N -
0.006F -3¢ 0.006F 0.006F —30¢
- - —30( -
0.004- 0.004- 0.004- o8¢
0.002F- 0.002F- 23( 0.002F-
- - n 20(
o oF 20¢ o
0.002F _0.002F .' 15¢ .00z ™ 15¢
-0.004 |- -0.004— 100 -0.004— = 10¢
-0.006 — ~0.006 ] ~0.006
- - - 50 - 50
0.008 ool bena b bewabea b beva bu i b | -0.0081 | | | -| | | | -0.008} | | | | | | | | |
1 L1 1 L1l L1 1 || L1 1 L1 1 L1l L1 1 || L1 1 | | L1 11 L1 1 1 L1 1 1 L1 1 1 L1 1 1 L1 1 1 | D 11 L1 1 | | | I | L1 1 | | | I | L 11 111 |
~0.00€0.066.0040.002 0 0.008.004.0060.0080.010.012 ~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015 ~0.0080.0060.004-0.002 0 0.0020.0040.006 0.008
asym_usl asym_dsl asym_usr
B B B —|a5¢
.0015 = _lasg 1.0015 O 2.0015 O
N ¥ —40( -
B —Hane B B I —{30(
0.001F 0.001H —a5¢ 0.0011 =
[ —35( - - - _|=5¢
7.0005 7.0005 306 7.0005 ™
T —30¢ L L
- - 25( - 20(
OF m - o= o=
N [ N 20( N
i i i 15¢
).0005 7.0005 151 7.0005
i i - 10¢
—0.001 —0.001 100 ~0.001
- . - 50( - m - >0
).0015 2.0015 2.0015
_I | 111 | 11 | 111 | L1 1 | 111 | 111 | 11 I L1 1 | L1 1 | 111 | | i | I L1 11 | 11 1 1 I I | | L1 1 1 | L1 1 1 | L1 11 | | D _I | | | | L1 1 | L1 1 I L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | |
~0.00€0.066.0040.002 0 0.008.004.0060.0080.010.012 ~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015 ~0.0080.0060.004-0.002 0 0.0020.0040.006 0.008
asym_usl asym_dsl asym_usr
B N —{a5¢ -
0.008 0.008 0.008
- —40¢ - - —30(
0.006F 0.006F aog 0.006F
N —35( N N
0.004 0.004 0.004 N
N —30( N —25( N
0.0021 0.0021 0.0021 20¢
N - 20( N
O O = O
B B B 15(
-0.002|- -0.002- 15( -0.002-
B u B B
-0.004 -0.004F J00 -0.004F 10
-0.0061— -0.006— -0.006—
B B 50 [ 50(C
-0.008 - -0.008F - -0.008F
_I | 111 | 111 | 111 | 111 | 111 | 1 11 | 111 I 1 11 | 111 | 111 | | B | I 11 11 | 1 1 1 1 I 11 1 1 | 11 1 1 | 1 1 1 1 | 11 1 | | D _I | | 1 1 1 | 111 | 1 1 1 I 11 1 | 1 1 1 | 11 1 | 1 11 | 1 1 1 | |
~0.00€0.066.0040.002 0 0.008.004.0060.0080.010.012 ~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015 ~0.0080.0060.004-0.002 0 0.0020.0040.006 0.008
asym_usl asym_dsl asym_usr
— —a0c — —aoc A
2.0015 2.0015 2.0015 _laor
N —35( - —35( B
0.001 . 0.001 0.001 oge
§ —30( § —30( §
7.0005— 7.0005— 7.0005—
- —25( - 25( - —20(
- - - u
o 0 0
: 20( : 20( : J5¢
).0005 150 1.0005 150 ).0005 g
N N O - 10¢
N 10 N 10¢ N
~0.001 ~0.001 ~0.001
N N N 50
i 50 i 50 i . .
).0015 2.0015 2.0015
_I | 111 | 111 | 111 | 111 | 111 | 1 11 | 111 I 1 11 | 111 | 111 | | _ | I 11 11 | 1 1 1 1 I 11 1 1 | 11 1 1 | 1 1 1 1 | 11 1 | | _I | | 1 1 1 | 111 | 1 1 1 I 11 1 | 1 1 1 | 11 1 | 1 11 | 1 1 1 | |

0

run6356_000_asym —Dfimfﬂlﬁlgmi{iﬂl 0.Gg Edfﬂmﬂiﬁiiﬁtualjgaiﬂrﬂlﬂflﬁeiaﬂﬂfi31 D.D_{}i‘lsfiu OLZB:]JEEDE 0 D.DGED.UG4D.2{5}$FE£?E§

0.012F e
- [ |
0.01F —35(
0.008
- —30(
0.006—
0.004 23
0.002 200
0
: 15¢
-0.002F
~0.004 100
~0.006F &0
—D.D{}E:—I | | | ; | | |
~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015
asym_dsr
A— a0
2.0015- O
B —35(
0.0011
§ —30(
).0005
- 25(
U 20¢
1.0005— 13(
N 10¢
~0.001F
i 50
7.0015F
_I I L1 11 | 11 1 1 I I | | L1 1 1 | L1 1 1 | L1 11 |I
~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015
asym_dsr
0.008 ane
0.006
N —{25¢
0.0041
0.0021 —20¢
ol
- " 15¢
-0.002
-0.004 m 10¢
-0.006
- Tl 50
-0.008 .
_I I 11 1 1 | 1 1 1 1 I 11 1 1 | 11 1 1 | I . | 11 1 |I
~0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015
asym_dsr
1.0015F gy 33t
0.001 30
N —25¢
2.0005
N 20(
0
: 15¢
7.0005F
i 10¢
~0.001F
- 50¢
7.0015F
_I I 11 1 1 | 1 1 1 1 I 11 1 1 | 11 1 1 | I . | 11 1 |I

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

asym_usl

12 [ ndf 27.01/ 34
p0  9.449¢-08 + 3.199e-07

P 0.9983 = 0.0002

0.004

0.002

0

-0.002

-0.004

-0.006

_DLDGETIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.0080.006.0040.002 0 0.00D.004.00e0.0080.010.012

ag;qm_usl

0.6

0.4

0.2

-0.2

-0.4

-0.6

=
I|III|III|III|III|III|III|III

¥ ndi 36.18/ 34
po 2.136e-07 £ 1.633e-06
p1 —0.0009762 + 0.0003096
Cor factor —-0.0140

|
}[_

—0.0080.006.0040.002 0 0.00D.004.00e0.0080.010.012

¥* / ndf 105.1/ 34 -
p0 _1.776e—05 + 9.079e-06
p1 0.6326 + 0.0049 I‘
Cor factor 0.5667 , +I+I II
.l.
0.002]- #t I t -
D_
-0.002 -
L -|-+
[ _
- I
-0.004 — I[
—|I|||I|||I|||I|||I|||I|||I|||I|||I|||I|||I|

—0.00€0.006.0040.002 0 0.00D8.004.00e0.0080.010.012

- ¥2 / ndf 35.52 / 34
0.0008F

- pO ~7.416e—07 £ 1.907e-06
0.0006

B p1 —0.002733 = 0.001062
2.0004

u Cor factor -0.0112
0.0002 - II

- 1
).0002 - _II -
).0004 i
).0006 — -
).0008 -
-0.001

—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

asym_dsl

0.003

0.002

0.001

-0.001

-0.002

-0.003

-0.004

-0.005

-0.006

I bt
| I

w2 | ndf 31.07 /36
p0 8.108e—06 + 1.021e-05
p1 —0.06302 + 0.03592

Cor factor -0.0140

gl

=1

—0.0015 -0.001 -0.0005

asym_dsl

0 0.0005 0.001 0.0015

x= /[ ndf 2427 /36

pld  -2.255e-08 £ 4.964e-08

Pl 0.9989 = 0.0002

J.0005

-0.001

J.0015

—0.0015 -0.001 -0.0005

0 0.0005 0.001 0.0015

¥ ndf 41.03/ 36
pO ~2.072e-05 + 1.102e-05
p1 0.005168 + D.038897 -
Cor factor -0.0036 ][
- } II
0 IIIIIIIIIIIIIWMIII { |
~0.001F | I
-0.002—
-0.003
-0.004
:III_IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.0015 -0.001 -0.0005

asym_dsl

0 0.0005 0.001 0.0015

¥2 ¢ ndf 50.88 /36
p0 —9.601e—07 £ 1.9032-06
b1 0.002921 + 0.006705
Cor factor 0.0006

D.Ef—

o

—D.Ef— - I I
—D.r-lf—
—D.ﬁf—

II i fﬁwﬁa%wﬁ%qiﬂIHI II

run6356 OOO asym ) E#imﬁmiﬂgﬂﬁﬂmfﬂm mi tual ~0.0015 —0.001-0.0005

correla

a 0.000% 0.001 0.0015

lation-

2 { ndf 94.72 | 44 }
p0 1.707e-05 + 8.381e-06 J[ I
p1 0.5422 + 0.0042 {H##I +
Cor factor 0.5667 A Y I Jr
D_
_0.002— Ty
L
_0.004 II
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—0.0080.00680.0040.002 0 0.0020.0040.0060.008
:— 2/ ndi 42,753/ 44
0.5 p0 3.176e-00 + 1.626e-06
0.4 p1 ~0.0003804 + 0.0008288
0af - Cor factor -0.0036
0.2 ]I }
0.1 } T
o | hi il
- | b
- f
-0.1F
—0.2F
—D_3:|—||I|||I|||I|||I|||I|||I|||I|||I|||I|
—0.0080.00680.0040.002 0 0.0020.0040.0060.008
¥2 | ndf 43.38 / 44 e

po 5.431e-07 £ 2.726e-07

p1 0.9996 + 0.0001
0
-0.0021
-0.004 )
-0.006F s
-0.008F _~
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
i ¥ | ndf 41.77 | 44
0.6
. B0 ~9.499e-07 + 1.903e-06
- p1 —0.001924 + 0.000973
0.4/
B Cor factor —0.0081
0.2 -

ool ]

— —l—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—-0.0080.0060.004-0.002 0 0.0020.0040.0060.008

1tpng

- %2 { ndf 45.32 ] 42
0.004
- p0 6.274e-06 + 1.020e-05
0.0031- p1 —0.05998 + 0.03059
N Cor factor -0.0112
0.002-
0.0011 :
- II%*,,,,,_,,# bt} II i
~0.0011 I T
-0.002

_0.0015 —0.001-0.0005 0  0.0005 0.001 0.0015
0.3 2/ naf 45.69 / 42
0of pO0 1.128e-06 + 1.6272-06
E p1 =0.001307 £ 0.004880
0.1
- | I Cor factor 0.0006
of- I%WWT
~0.1F } '
-0.2F -
-0.3F
04 1
—I:IIE__IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII_III
-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
2 i
0.003 ¥= fnaf 55 85/ 42
B0 ~1.629¢-05 + 1.101e-05
0.002
p1 =0.05151+ 0.03299
0.001 Cor factor —-0.0081
T

-0.001

-0.002

-0.003

]
||||||||||||||||||||||||||||||
I I I I I I I
1
[ T—

m—

_0.0075 —0.001-00005 0  0.0005 0.001 0.0015
7.0015— htel I Ip
E Entries 41153
0.001
B Mean —6.165e -0F
7.0005 —
- Meany -6.165e 07
D:— Std Dev 0.0003779
) Std D
— ev y 0.0003779
—0.001~ =
:]-ﬂﬂ15__IIIIIIIIIIII||||I||||I||||I||||I||
—0.0015 —-0.001-0.0005 0 0.0005 0.001 0.0015



asym_usl

asym_dsl

asym_usr

asym_dsr

asym_usl

0.012

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008
I|III|III|III|III|III|III|III|III|III|III|I

—0.0080.004.0040.002 0 0.003€.004.00e0.0080.010.012
asym_usl

asym_usl

20015
0.001—

J.0005—

1.0005 —

—0.001—

1.0015 -
_I|III|III|III|III|III|III|III|III|III|III|I

—0.00£0.00.0040.002 0 0.0050.004.000.0080.010.012
asym_usl

asym_usl
0.008F
0.006

0.004

0.002

-0.002
-0.004

-0.006

oF

-0.008

—0.0080.008.0040.002 0 0.00D8.004.0060.0080.010.012
asym_usl

asym_usl

20015
0.001—

2.0005—

1.0005 —

—0.001—

1005

run6356 000 asym maindet mt

tual correla

asym_dsl

0.012

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008
IIIIIlIIIIIIIIIlIIIIlIIII|IIII|I

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsl

asym_dsl

J.0015—
0.001—

J.0005—

J.0005—
—0.001—

10015

-0.0015 -0.001 -0.0005 0O 0.0005 0.001 0.0015
asym_dsl

asym_dsl
0.008
0.006[

0.004 —

0.002—

-0.002—
-0.004 —

-0.006—

-0.008—

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsl

asym_dsl

J.0015—
0.001—

2.0005—

J.0005—

-0.001—

10015

—0.0015 -0.001 -0.0005 g Dﬂfi 0.001 0.0015

asym_usr

0.012

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—0.0080.006-0.004-0.002 0 0.0020.0040.006 0.008
asym_usr

asym_usr

20015
0.001—

J.0005—

J.0005—

—0.001—

10015

—0.0080.006-0.004-0.002 0 0.0020.0040.006 0.008
asym_usr

asym_usr
0.008
0.006[

0.004 —

0.002—

-0.002—
-0.004 —
-0.006—

-0.008—

—0.008-0.006-0.004-0.002 0 0.0020.0040.006 0.008
asym_usr

asym_usr

20015
0.001—

2.0005—

J.0005—

—0.001—

10015

—-0.0080.008-0.004-0.002 0 0.0020.0040.006 0.008

101n-scat.png

asym_dsr

0.012

0.01

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008
IIIIIlIIIIIIIIIlIIIIlIIII|IIII|I

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015—
0.001—

J.0005—

J.0005—

-0.001—

2.0015—
_IIIIII|IIIIIIIIIlIIIIlIIIIlIIIIlI

-0.0015 -0.001 -0.0005 O 0.0005 0.001 0.0015
asym_dsr

asym_dsr
0.008F
0.006

0.004

0.002

-0.002
-0.004

-0.006

-0.008

oF

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015—
0.001—

2.0005—

J.0005—

-0.001—
|— .--'r-_f
10015

-0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015
asym_dsr




